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NEW QUESTION 1
Which of the following services would restrict connectivity to cloud resources?

A. Security lists
B. Firewall
C. VPN
D. Intrusion detection system

Answer: A

NEW QUESTION 2
Which of the following cloud characteristics helps transform from a typical capital expenditure model to an operating expenditure model?

A. Pay-as-you-go
B. Elasticity
C. Self-service
D. Availability

Answer: A

NEW QUESTION 3
Which of the following DevOps options is used to integrate with cloud solutions?

A. Provisioning
B. API
C. SOA
D. Automation

Answer: B

NEW QUESTION 4
A web application was deployed, and files are available globally to improve user experience. Which of the following technologies is being used?

A. SAN
B. CDN
C. VDI
D. API

Answer: B

NEW QUESTION 5
A SaaS provider specifies in a user agreement that the customer agrees that any misuse of the service will be the responsibility of the customer. Which of the
following risk response methods was applied?

A. Acceptance
B. Avoidance
C. Transference
D. Mitigation

Answer: C

NEW QUESTION 6
A business analyst is drafting a risk assessment.
Which of the following components should be included in the draft? (Choose two.)

A. Asset management
B. Database type
C. Encryption algorithms
D. Certificate name
E. Asset inventory
F. Data classification

Answer: AF

NEW QUESTION 7
A cloud administrator suggested using spot instances to reduce cloud costs for part of a new cloud infrastructure.
Which of the following conditions must be addressed by the application that will run on these instances?

A. The application needs to store data in a database.
B. There is a restriction for distributed network communications.
C. The application needs to handle unpredictable instance termination.
D. Resource-intensive compute loads will be forbidden.

Answer: C

The Leader of IT Certification visit - https://www.certleader.com



100% Valid and Newest Version CLO-002 Questions & Answers shared by Certleader
https://www.certleader.com/CLO-002-dumps.html (73 Q&As)

NEW QUESTION 8
A mobile application development team requires frequent software updates for a major launch of a customer-facing application. The business requirement is to be
first-to-market on a new feature that leverages third-partyhosted services.
Which of the following is the BEST approach to use for speed and efficiency?

A. Proprietary code solution
B. Application programming interface
C. Regression testing
D. Production load testing

Answer: B

NEW QUESTION 9
A contract that defines the quality and performance metrics that are agreeable to both parties is called an:

A. SOP.
B. SOA.
C. SOW.
D. SLA.

Answer: D

NEW QUESTION 10
Following a risk assessment, a company decides to adopt a multicloud strategy for its IT applications.
Which of the following is the company trying to avoid as part of its risk mitigation strategy?

A. Geo-redundancy
B. Vendor lock-in
C. High availability
D. Data sovereignty

Answer: B

NEW QUESTION 10
Which of the following BEST describes how a cloud provider helps a company with security
risk responses?

A. Acceptance
B. Mitigation
C. Avoidance
D. Transference

Answer: D

NEW QUESTION 11
A human resources department is considering a SaaS-based human resources portal and requires
a risk analysis. Which of the following are requirements to consider? (Choose two.)

A. Support
B. Threats
C. Chargebacks
D. Vulnerabilities
E. Maintenance
F. Gap analysis

Answer: AD

NEW QUESTION 14
A project manager must inform the Chief Information Officer (CIO) of the additional resources necessary to migrate services to the cloud successfully.
Which of the following cloud assessments would be MOST appropriate to use for the recommendation?

A. Feasibility study
B. Gap analysis
C. Future requirements
D. Baseline report

Answer: B

NEW QUESTION 19
After performing an initial assessment of a cloud-hosted architecture, a department wants to gain the support of upper management.
Which of the following should be presented to management?

A. Project charter
B. Feasibility study
C. Managed services
D. Pilot
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Answer: A

NEW QUESTION 23
A company is migrating a legacy application to the cloud. Two C-level executives are currently engaged in the initial stages of the migration, and they are planning
a rip-and-replace approach.
Before initiating the project, the FIRST step should be to identify:

A. the required network performance.
B. the key stakeholders.
C. the desired CSP.
D. the required cloud services.
E. the required amount of storage.

Answer: CD

NEW QUESTION 24
A company deploys a data management capability that reduces RPO. Which of the following BEST describes the capability needed?

A. Locality
B. Replication
C. Portability
D. Archiving

Answer: D

NEW QUESTION 26
A small business is engaged with a cloud provider to migrate from on-premises CRM software. The contract includes fixed costs associated with the product.
Which of the following variable costs must be considered?

A. Time to market
B. Operating expenditure fees
C. BYOL costs
D. Human capital

Answer: D

NEW QUESTION 30
An online retailer wants to ensure its inventory for the holiday season is correct. The company does not have a large IT infrastructure or staff to collect and analyze
sales information, customer analytics, marketing information, or trends.
Which of the following cloud services will help the company analyze these metrics without a large investment in human capital?

A. Containerization
B. Big Data
C. Microservices
D. Blockchain

Answer: B

NEW QUESTION 35
Which of the following is the cloud storage technology that would allow a company with 12 nearly identical servers to have the SMALLEST storage footprint?

A. Capacity on demand
B. Compression
C. Software-defined storage
D. Deduplication

Answer: C

NEW QUESTION 37
A vendor stipulates it will provide incident response within two hours of a severity level A incident.
Which of the following does this describe?

A. Maintenance agreement
B. Managed service agreement
C. Operating level agreement
D. Service level agreement

Answer: D

NEW QUESTION 40
When selecting a cloud provider, which of the following is MOST likely to be a financial consideration?

A. Proof of concept
B. Request for information
C. Licensing models
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D. Request for proposal

Answer: C

NEW QUESTION 45
A company's finance team is reporting increased cloud costs against the allocated cloud budget. Which of the following is the BEST approach to match some of
the cloud operating costs with the appropriate
departments?

A. Right-sizing
B. Scaling
C. Chargeback
D. Showback

Answer: C

NEW QUESTION 49
When designing a new cloud-enabled application, an organization that is considering RTO and RPO is MOST likely concerned about:

A. redundancy.
B. load balancing.
C. disaster recovery.
D. high availability.

Answer: C

NEW QUESTION 51
Which of the following results from implementing a proprietary SaaS solution when an organization does not ensure the solution adopts open standards? (Choose
two.)

A. Vendor lock-in
B. Inability to enforce the SLA
C. Lack of technical support
D. Higher ongoing operational expenditure
E. Integration issues
F. Higher initial capital expenditure

Answer: AE

NEW QUESTION 56
A requirement states that an application must be restored within six hours. Which of the following should be included in the SLA to satisfy this requirement?

A. MTTR
B. RPO
C. ROI
D. RTO

Answer: D

NEW QUESTION 58
......
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